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MULTIPLICATION TABLE

1 TIMES TABLE 2 TIMES TABLE 3 TIMES TABLE 4 TIMES TABLE 5 TIMES TABLE
Tx 1= 1] 20 =2 [Tx1 =3 hx1=h| [5x1cx:?
lx 2 =2 2x2:k 3Ix2c:f hx2:=8 5xQ:0
1 x 33 2x3:6 3x3:9 hx3:R §x3:h
Dx b= b 2 x k=8 3wk =R hx kol 5 ox b s
lx 5«5 2080 3 x5 B 4x5:N §x5 0K
lx 6 =6 2x b= 3xb B hxb:U 5xocd
lx T =7 2% =0 3x7 =0 4x7:8 §x7]:%&
1 x 8 =8 2 x8 =1 3 xB % 4xB N §Fx B Il
lx 9 =9 29 =B 3y =0 by % 5x9o:
LM = 20 =0 3 xW =0 4xW0:@ 5 x0 =5
6 TIMES TABLE T TIMES TABLE 8 TIMES TABLE 9 TIMES TABLE 10 TIMES TABLE
6y T =6 (Tl =T (818 [9x1 =9 0x1c:D
6y 2 =0 T x 2% 8x2:h 9 x2:B Mx2:D
6 x 3 =B T x3 0 8 x3 U 9 x3 =] Mx3o:
by b= T x k=B B x k=W 9 x b= ¥ 0 x b o= Ul
x5 =0 T x5 B B x5l I x5 Mx5 N
6 x b =% T x bk 8 x bl ) x b5 Mxfo:f
by 7=l T x Tl 8 x T % I x T8 MxT:N
6 x 8 =l T x B % B x B8 9 x8 =T W0x g s
6 x 9 =B T x99 B Bx9 M I x 9B Mxo: N
6 x 0 =8 Ty =M 8 x 0 8 9 x 0N 0 x 0=
11 TIMES TABLE 12 TIMES TABLE 13 TIMES TABLE 14 TIMES TABLE 13 TIMES TABLE
T T =] Ml =0] Bx 18 %xlc:hl Bxlc:Db
Ix 2 =0 Mx2 =% Bx2:=8 %xl2:B Hxl:Q
Tx 3 =8 Dx3 =% Bx3:=¥ %xd:R B3
X b= b Doy ko= Box b= %xko:H Bx b
x5« % Dy § =80 MBS %xdeW Hx5 e
Tx 6= 86 Doxb=T Boxb:=MB %xb:8 Hxg:n
Ix T =T Rx? =8 BT =8 %xl =B §x] =0
ox 8 =8 2ox 8 =% Box 8 =W %ox8 =M xS o:I
x 9 =% Qo9 =M Box Y =M %xd o= B ox ) oc B
p 0= M0 ox 0= 10 By : B x 0 WO By 0
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